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The “Nimuchana Tragedy” during
peasant discontent in the State of
Alwar occurred on

(1) 14™ April, 1925
(2) 20™ April, 1925
(3) 14™ May, 1925
(4) 20" May, 1925

The first session of the All India State
People’s Conference was held at

(1) Udaipur
(2) Delhi
(3) Bombay
(4) Ajmer

The revolutionary, who started his
career as the Private Secretary of
Thakur of Chomu :

(1) Arjun Lal Sethi

(2) Rao Gopal Singh

(3) Jorawar Singh Barshath
(4) Ras Bihari Ghosh

Read the following statements about
Vijay Stambh of Chittorgarh :

(i) It was built by Rana Kumbha
under the supervision of Mandan.

(ii) Its an eight story structure.

(iii) Vijay Stambh is dedicated to lord
Vishnu and has plenty of
sculptures of Hindu Pantheon.

Which of the above statements are
true ?

(1) (i) & (i)
(2) (ii) & (iii)
(3) (i) & (iiD)
@) (i), (i) & (iii)
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Sawar and Shapura are the substyles of
which  of the following  painting
school ?

(1) Marwar
(2) Ajmer
(3) Mewar
(4) Hadoti

Which of the following dance styles is
not associated with tribal community ?

(1) Gindar
(2) Walar
(3) Mandal
(4) Gavari

The artist who is related to Shekawati
Khyal

(1) Nanuram
(2) Shivdayal
(3) Lakshiram
(4) Motilal

Which of the following is not an
Aerophonic instrument ?

(1) Surnai
(2) Satara
(3) Nad

(4) Surmandal

“Daduvani®  compilation  of the
teachings of Dadu is written in

(1) Mewati dialect
(2) Dhundhari dialect
(3) Deshwali dialect
(4) Bagadi dialect
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Which of the following works of
Modern Rajasthani literature is in Epic
style ?

(1) Maru Mayank
(2) Radha

(3) Jayati Jotan
(4) Senani

Name the work authored by Bhatt
Sadashiv at the instance of Maharaja
Kalyanmal.

(1) Raj Vallabh
(2) Raj Vinod
(3) Raj Ratnakar
(4) Amrarsar

Which of the following places related
to Tejaji is not correctly matched ?

(1) Kharnal - Birth place
(2) Paner - Maternal home
(3) Sursura — Cemetery

(4) Parabatsar — Main fair place

“Ban-mata” was Kuldevi (guardian
goddess) of the royal family of

(1) Mewar
(2) Bikaner
(3) Jodhpur
(4) Jaipur

Pichvaram Mangroove is situated in
which state ?

(1) Rajasthan
(2) Gujarat

(3) West Bengal
(4) Tamil Nadu
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Which of the following river was also -
known as “Sorrow of Bengal” ?

(1) Gandak
(2) Sone
(3) Damodar
(4) Kosi

According to Census 201 1, which state
has the maximum literacy rate in °
India ?

(1) Assam
(2) Punjab
(3) Kerala
(4) Maharashtra

Trimbakeshwar range is the source of
which river of India ?

(1) Mahanadi
(2)  Godavari
(3) Chambal
(4) Narmada

Loktak lake is situated in which State
of India ?

(1) Manipur
(2) Tripura

(3) Assam

(4) West Bengal

Which river is also known as
“Narayani’ in plain of India ?

(1) Chambal

(2) Gandak

(3) Kosi

(4) Mahanadi
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Which of the following area of
Rajasthan is famous for the copper
deposit ?

(1) Lunkaransar

(2) Khetri

(3) Agucha

(4) None of these

In Rajasthan, the major mines of Rock
phosphate is situated at

(1) Kho Dariba
(2) Kolihan
(3) Degana
(4) Jhamar Kotra

Which is the highest peak of Aravalli
Range from following ?

(1) Kumbhalgarh
(2) Jagra

(3) Achalgarh
(4) Kamalnath

The first cotton Textile mill of

Rajasthan was established at
(1) Bhilwara

(2) Jaipur

(3) Jalore

(4) Beawar

Major deposites of Wollastonite are
found in Rajasthan :

(1) Pratapgarh District
(2) Sirohi District
(3) Banswara District
(4) Barmer District
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Which is the only river of Rajasthan
which has its entire course within the
State ?

(1) Kothari
(2) Banas
(3) Parbati
(4) Mahi

Which is the largest Glacier outside
polar region situated in India ?

(1) Gangotri Glacier
(2) Mana Glacier
(3) Siachin Glacier

(4) Kanchanjunga Glacier

Which of the following do not contain
Archean Rocks ?

(1) Gneiss
(2) Schist
(3) Granite
(4) Sedimentary

Sahyadri is an example of which type
of mountain ?

(1) Horst

(2) Folded
(3) Residual
(4) Volcano

‘Pat’ land is found in

(1) Vidarbh plain

(2) Vindhyan High land
(3) Dandkaranya

(4) Chhota Nagpur
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Which of the following does not affect
the origin of monsoon ?

(1) Jet Stream
(2) ElNino
(3) Thermal difference

(4) Western disturbance

Whom of the scholar is not related
with Monsoon thought ?

(1) Flohn

(2) Conard

(3) Ramnathan
(4) Koteshwaram

Tawa river is a tributary of the river ?
(1) Narmada

(2) Mahanédi

(3) Tapti or Tapi

(4) Son

As per Census 2011, what is the
average population density of India
(Person/square km) ?

(1) 350
(2) 362
(3) 382
(4) 378

Which of the following river does not
have its origin near Mansarovar lake ?
(1) Sutlej

(2) Indus

(3) Brahmaputra

(4) Chenab
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As per Census of 2011, which
State/U.T.  has  highest female
percentage of literacy ?

(1) Tamil Nadu

(2) Pondicherry

(3) Kerala

(4) Delhi

Which rock is important for Coal ?

(1) Gondwana
(2) Deccan Trap
(3) Vindhyan
(4) Cuddapah

India’s East Coastal Plain is called by
which name in Southern Part ?

(1) Malabar
(2) Konkan
(3) Coromandal
(4) Amindivi

Mahi Kanchan variety is related to
which crop ?

(1) Rice
(2) Maize
(3) Soyabean
(4) Wheat

What is ‘Uparmal’ ?

(1) Bhorat Plateau of Udaipur.
(2) Nagore Highland.
(3) Highland Plateau between

Chittorgarh and Bhilwara.

(4) Plateau land of Abu Region
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As per census of 2011, which district
has lowest density of population in the
State ?

(1) Jaisalmer

(2) Barmer

(3) Rajsamand

(4) Dungarpur

Shyampura and Bhat canals start from
the

(1) Rajsamand Lake

(2) Pichhola Lake

(3) Fateh Sagar Lake

(4) Jaisamand Lake

Name the most lengthy river flows
exclusively in Rajasthan.

(1) Mahi
(2) Banas
(3) Banganga
(4) Luni

Grassland and Pasturis are locally
known in Rajasthan :

(1) Beeds
(2) Dwar
(3) Bugyal
(4) Barren

On 26™ November, 1949, in
Constituent Assembly of India, how
many members appended their
signature to the Constitution ?

(1) 282
(2) 284
(3) 286
(4) 287
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The principles of Liberty, Equality and
Fraternity in the Constitution of India,
are taken from which Constitution ?

(1) Constitution of Britain
(2) Constitution of Ireland

| (3) Constitution of Canada

(4) Constitution of France

Which is the correct group that is '
included in the term ‘Equality’ in the
Preamble of the Constitution of India ?

(1) Social and economic
(2) Economic and political
(3) Status and opportunity
(4) Social and political

According to the constitution of India,
the ‘Prohibition Writ’ is issued for

(1) The Executive
(2) The Legislature

(3) High officials of administrative
services

(4) Lower courts

Read the following statements
carefully :

I.  The Directive Principles of - the
State are the goals and objectives
that we as a society should adopt.

II. The Directive Principles of the
State are certain rights that
individuals should enjoy apart
from the Fundamental Rights. =~

Choose the correct option :

(1) Iis correct and II is incorrect.
(2) Iliscorrectand I is incorrect.: ‘
(3) Both I and II are correct.

(4) Both I and II are incorrect.
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In the Constitution of India, the
provision of ‘free legal aid’, has been

inserted in

(1) The Preamble

(2) Inthe form of Art. 39A

(3) Inthe form of Art. 43A

(4) In the form of Art. 38 clause(2)

Regarding the enforcement
Fundamental Duties, the Constitution
of India

(1) lays the responsibility of the State
Government

(2) lays the responsibility on the
Central Government

(3) lays the responsibility on the local
administrative bodies

(4) The Constitution does not say
anything.

In the Constitution of India, ‘to

develop the scientific temper’ is a part
of

(1) The Preamble

(2) The Directive Principle of State
Policy

(3) The Fundamental Duties
(4) The Fundamental Rights

How many times can the President ask
the Council of Ministers to reconsider
its advice ?

(1) Once
(2) Twice
(3) Thrice

(4) Four times
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In India, the time limit within which
the President must send the bill back
for reconsideration which has been
passed by the Parliament (other than
the money bill) is

(1) 14 days

(2) one month

(3) There is no time limit.

(4) 28 days
In Indian Constitution, the
representatives ~ of  the  Union

Territories in the Council of States

shall be chosen in such manner as may

by law be prescribed to

(1) The Parliament

(2) The Vice President

(3) The Election Commission of
India

(4) The related Union Territory

In India, the Cabinet Secretariat
functions under the direct charge of
the '

M
()
3)

Ministry of Home Affairs
Parliament

Union Public Service

Commission
Prime Minister

4

Choose the wrong statement from the
following :

(1) The Cabinet Secretary is the head

of the Cabinet Secretariat.

He is the ex-officio President of
the Committee of Secretaries.

He is the Chief Advisor of the
Prime Minister.

(2)

()

(4) He does not participate in the

meetings of the cabinet.
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(4) 1911 gH1 e 2 |

| 57.

14

89,

For establishment of Central Services
in India, the Chief Advisor to
President is

(1)
(2)

Ministry of Finance

Ministry  of  Labour  and

Employment
(3)
4)

Ministry of Home Affairs

Ministry of Personnel, Public
Grievances and Pensions

Read the
carefully :

following  statements

I. The privileges of the Legislature
of a State are similar to those of
the Union Parliament.

II. Each house of the State
Legislature has the power to
punish for breach of its privileges
or for contempt.

Find the correct sentence/ sentences :
(1) Iis correct and II is incorrect.
(2) 1is wrong and II is correct.

(3) Iandll, both are correct.

(4) 1and II, both are incorrect.

Read the following statements
carefully :
I. The selection of the Chief

Secretary of the State is done by
the Chief Minister.

II. For this the approval of Cabinet
Secretary is also essential.

The correct answer is

(1) 1is correct and II is incorrect.
(2) IIis correct and I is incorrect.
(3) Both I and II are correct.

(4) Both I and II are incorrect.
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(4) e (A)
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62.

Read the
carefully :

following

I.  The National Security Advisor of
India is a constitutional post.

II. He is answerable to the Cabinet
Secretary of India.

The correct answer is :

(1) Iiscorrect and II is incorrect.

- (2) Iliscorrect and I is incorrect.

(3) Both I and II are correct.

(4) Both I and II are incorrect.

Which word is not mentioned in the
Article 16(2) of the Constitution of
India ?

(1) Place of birth
(2) Religion
(3) Descent

(4) Eligibility

Which of the following Articles of the

Constitution of India, related to

Directive Principles of State Policy
has/have, mention/s word education ?

(A) Article 41

(B) Article 45

(C) Article 46
Correct answer is :
(1) (A), (B) and (C)
(2) (A)and (B)
(3) (B)and (C)
(4) Only (A)

statements -
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(1) =T 131

(2) 3TT 135
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(4) =BT 137
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Which is correct sequence of words in
Article 51-A(a) of the Constitution of
India ?

I.  National Flag

II. National Anthem

I1I. Ideals

[V. Institutions
Correct answer is :

(1) 1 n I iv
2 v 1 1 1
G ur v 1 1

@ o 1 1r 1v

In which Article of the Constitution of
India, power of President to grant
pardons mentioned ?

(1) 70
) 71
(3) 72
@) 73

Under which  Article of the
Constitution of India, Supreme Court
may grant special leave to appeal from

any judgment made by tribunal ?
(1) Article 131
(2) Article 135
(3) Article 136

(4) Article 137
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68.

What is the correct hierarchy of the
following officers of the Central
Secretariat Service ?

. Section Officer
II.  Deputy Secretary
[I1. Under Secretary
Correct answer is :
() T 1 11

2 I 1 1

(3) I 11 1

4 U1 1 u

Which of the following departments
are organisational part of the Ministry
of Home Affairs ?

(A) Department of
Management

Border

(B) Department of Official Language
(C) Department of Internal Security
Correct answer is :

(1) (A)and (B)

(2) (A)and (C)

(3) (B)and (C)

(4) (A), (B)and (C)

Antyodaya Yojna was launched in

Rajasthan  under  which  Chief

Minister ?

(1) Haridev Joshi

(2) Shivcharan Mathur

(3) Bhairon Singh Shekhawat
(4) Jagannath Pahadia
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72.

Who preside over a Council of
Ministers meeting in Rajasthan in the
absence of the Chief Minister ?

(1
(2)
(3)
4)

Home Minister
Finance Minister
Revenue Minister

Any other Minister designated by
the Chief Minister

Who works as a Secretary to the
National Security Council in India ?

(1) Cabinet Secretary

(2) Defence Secretary

(3) National Security Advisor
(4) Home Secretary

Which Para Military Forces has
mandate to guard India — Nepal border ?

(1) Border Security Force
(2) Assam Rifles
(3) Sashastra Seema Bal

(4) Central Reserve Police Force

Under the provisions of The Unlawful
Activities (Prevention) Act, 1967,
which of the following security
features to define quality counterfeit
Indian currency notes ?

(A) Watermark

(B) Latent image

(C) See through register
Correct answer is :

(1) (A)and(B)

(2) (B)and (C)

(3) (A),(B)and (C)
(4) (A)and (C)
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TPy gren arfafEm, 1980 % aaa 1fsa
HATEHR &S 3 fohe Ge B3 & 7

(1) 2

) 3

(3) 4

4 s

HIHT ATIHH 9 AT a3l YTd & -
(1) dfen

(2) 3TTEfTeR

(3)

(4) e

A ITHeT W IASHT | B el
Mrerd -

(1) B—hifiresTd

(2) T -=ifdrprd

(3) eI SR

(4) =&l Hifdepd

T H RISt T T AH 1) @
yifrehT o arer g 2

(1) AT

) AwETE.

(3) TR-TFHeAH

(4) TRIERA

b Jom & Tt o e feig 2
(1) 100K
(2) 273K
(3) 373K
(4) 50K
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5.

76.

s

The Advisory Board constituted under
National Security Act, 1980, consist of
how many persons ?

(1) 2

(2) 3

(3) 4

4) 5

The only metal in liquid state at room
temperature is

(1) Copper

(2) Arsenic

(3) Mercury

(4) Lead

Mucus secreting cells of intestinal
epithelium are

(1) B—cells
(2) T-cells
(3) Goblet cells
(4) Bursa cells

The hormone which has role in
maintaining normal blood glucose
level is

(1) Glucagone
(2) TSH

(3) Nor-adrenalin
(4) Testosterone

Boiling point of water in Kelvin scale
is

(1) 100K
() 273K
(3) 373K
(4) 50K
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80.

81.

82.

Vitamin D deficiency is main cause of
(1) Scurvy

(2) Night-blindness

(3) Rickets

(4) COVID-19

Bacterium commonly used for gene
transfer in plants is

(1) E. coli
(2) Agrobacterium
(3) Nitrosomonas

(4) Salmonella

Prof. S.C. Maheshwari is well known
to his contribution in one field of

(1) Plant Tissue Culture
(2) Missile Technology
(3) Atomic Energy

(4) Environment

Flying squirrel in Rajasthan found at
(1) Ranthambore National Park

(2) Sariska National Park

(3) Keoladew National Park

(4) Sitamata Wildlife Sanctuary

Blackbuck can be seen in Rajasthan at
(1) Sorsan grasslands

(2) Ramgarh Vishdhari forest

(3) Shokaliya

(4) Sariska
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Photochemical smog is caused by

(1)

NO, and unburned hydrocarbons
in the presence of UV radiation

C02 and SO2
Acid fumes and SO2

(2)
3)
(4) NO, and water vapour

World Sparrow Day is celebrated on
(1) 5™ June

(2) 20" March

(3) 2™ October

(4) 12" January

Dry ice is

(1) solid water

(2) Solid carbon monoxide
(3) Solid carbon dioxide
(4) Normal ice

Maximum density of water is at
(1) 4 °C temperature

(2) 0°C temperature

(3) 100 °C temperature

(4) 10 °C temperature

Well known source of single cell
protein is

(1) Fish

(2) Milk
(3) Pulses
(4) Spirulina
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Cause of water cooling in earthern pot
is

(1) Evaporation
(2) Gravitation
(3) Fusion

(4) Diffusion

Red snow phenomenon is due to

(1) Blood of dead organisms in snow
(2) Acid rain

(3) Analgae

(4) Iron element in soil

Kirchoff’s first law for electric circuit

is based on

(1) Conservation of mass
(2) Conservation of charge
(3) Conservation of energy

(4) Conservation of weight

What is diffusion current ?
(1) Normal electric current

(2) Movement of charge from

negative to positive directions

(3) Movement of charge from high
density to low density

(4) Movement of charge in any

direction

00
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Who invented the transistor ?
(1) Schleiden and Schwan
(2) Newton

(3) J. Bardeen, W. Brattain & W.
Shockley

(4) C.V.Raman

ENIAC was the computer of
(1) First generation

(2) Second generation

(3) Third generation

(4) Fourth generation

Which memory type is not one part of
main memory in computer ?

(1) RAM
(2) ROM
(3) PROM
(4) Registers

What are computer viruses ?
(1) A life form
(2) A microbe

(3) A programme like other computer
programs

(4) A program which reproduce its
files

Lycos is a

(1) Search engine

(2) Compute protocol
(3) URL

(4) Web browser
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99,

Match the following :
List-1 List-1I
Insulin (i) Thyroid
gland
. Thyroxine (i)  PB-cells of
Pancreas
. Thyroid (iii) Testis
Stimulating
Hormone (TSH)
. Testosterone (iv) Pituitary
gland

A B C D
() () @i @Gv) (D)
(2) (i) (v) (D (D)
3) () (@ Gv) (i)
4) (i) () (i) (Gv)

Bt toxin is produced by a bacterium,
called as

(1) Bacillus subtalis
(2) Bacillus noudis
(3) Bacillus thuringiensis

(4) Bacillus thermolis

Which among the following is the
nodal agency for the registration of
newly  identified germplasm  of
livestock and poultry of India ?

(1)

Central Drug Research Institute, -
Lucknow

National Bureau of Animal
Genetic Resources, Karnal

(2)

(3) National Dairy Research Institute,
Karnal
(4) Central Arid Zone Research

Institute, Jodhpur
00
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(2) 332

(3) 372

(4) 324
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SRR St st

25

R el S ATATE e

In order to control environmental
pollution, the Government of India has
passed the Environment (Protection)
Act, ;

(1) 1972
(2) 1947
(3) 2002
(4) 1986

Increase in concentration of the
toxicants at successive trophic level is
called as

(1) Biodegradation
(2) Algal Bloom
(3) Biomagnification

(4) Bioremediation

“Golden Rice” is

(1) Vitamin A enriched Rice
(2) Insecticide resistant Rice
(3) Insulin enriched Rice

(4) Antibiotic enriched Rice

Among the following, which enzyme
is called as molecular scissors ?

(1) Ligase
(2) Transpeptidase
(3) Amylase

(4) Restriction endonuclease

The next number in the sequence
16, 36,78, 144,222, ......, is :

(1) 352

(2) 332

(3) 372

(4) 324
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CCRIOR
(1 9
2) 16
3) 21
4 12

e few e fea v w
TVXZ : MQUY :: QSUM : ........
3T ST & TR 2 -
(1) IMQU
(2) JNRV
(3) IMQV
(4) INQV

afg feeft e s § MINERAL
QRSTUVW 3R SOUND %! ABCSD
% w9 § forgt 9, A §9 @AW e W
# READERS %! gy fovar smam 72
(1) SBFEFSW
(2) TUDVUTR
(3) UTVDTUA
(4) QDZCDQC

afeaAb=a2+b2—a-b
dMa®b=ab-a-b,
WEAN®S5=........
R:

(1) 15

() 67

(3) 121

4) 152

106.

107.

8,..,27,16, 64, is :
(1 9

(2) 16

3) 21

4) 12

The set of letters which can be filled at
blank space given below :

TVXZ:MQUY # QSUM S i )
is:
(1) IMQU
(2) JNRV
3) IMQV
(4) INQV
If in a code language MINERAL is
written as QRSTUVW and SOUND is
written as ABCSD, then how will

READERS be written in the same code
language ?

(1) SBFEFSW
(2) TUDVUTR
(3) UTVDTUA
(4) QDZCDQC

IfaAb=a’+b?-a-b
anda®@b=ab-a-b,
then(3A4)®5=....... is :
(1) 15

2) 67

(3) 121

4) 152
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There are two columns in which the
numbers given under Column-II are
the codes for the letters given under
Column-I. Observe each letter and its
code.

Column-1I Column-II
SHOP 3479
PENTER 122356
ouT 689

TEST 2466

The code for “RENT” is :
Code :

(1) 1256

(2) 2356

(3) 1246

(4) Can’t be determined

Which is odd one among the following ?
(1) BNNAAA (2) OAGRNE
(3) GAERPS (4) JSIEAMN

One among, the following does not
belong to the same class, is :

(1) 35,24 (2) 79,68
(3) 57,46 (4) 59,37
Study the given information and

answer the question that follows :

On a play ground A, B, C, D and E are
standing as directed below, facing the
North :

(i) Cis 20 m to the right of B.

(i) Eis 15 m to the South of C.
(iii) A is 15 m to the West of B.
(iv) D is 45 m to the North of E.

Who is the North-East of the person,
who is the left of C ?

(1) A 2) B
(3) E 4) D



113.

114.

R 3719 ;| gfior i @ 10 forf
T SeEl R §R gea fR
25 Tep.#i1. = | 97 T g o e
3R T 40 5. H. Teme R el ge
T R R 15 fp.ft. Seme 3R
HIITT TG T, el 98 HE HLT B |
3G HATE 346 W H fpat gt W
IR e e A @ @ 7

(1) 40 .. gfor-gd

(2) 50 fop.oft. STR-gd

(3) 60 fop. . ITR-ufvam

(4) 80 for.=ft. gel—cfdqr

& TS IS I HAMYHS HETT B

T = fow Tyt (114-115) F IWE

(i) T H&TH 6 B qUT Teh IATH
A,B,C,D,E, F @ G T g9 W
FEH TEYE RS A 2 |

(i) EAATH N DF AT R |

(iii) AGATB H AT Haei C 2 |

(iv) EACITA S AT haeT F 2 |

(v) G,BF R |

JTEATI & qd 19 D 8 ?
(1) F
(2) D
(3) A
4 G

115. i dFABAN D H AR ?

(1 C
(2) A
3) G
4) E

l 113. Hari drives 10 kms towards South

|

from his house and turns left and
drives another 25 kms. He again turns
left and drives 40 kms straight, then he
turns right and drives another 15 kms
to reach his office where he works.
How far and in which direction is the
office from his house ?

(1) 40 kms South — East
(2) 50 kms North — East
(3) 60 kms North — West
(4) 80 kms East — South

! Study the following informations carefully
and then answer the questions (114-115)
given below :

B

28

114.

115,

Six students and one teacher of a
class, A, B, C, D, E, F and G — are
sitting in a circle facing the
centre.

(@)

(ii) E, the teacher is immediate left to
D.

(iii) C is the only between A and B.
(iv) F is the only between E and A.
(v) Gis left to B.

Who is immediate left to the teacher ?
(1) F

(2) D

(3) A

4 G

Who among the following is between
Band D ?

(1) C

2 A

3) G

4) E
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117.

00

frfafea & @ wF @ fo e, gedht
R qeldl & Aeg Ty ! gaad &9 °
SR a1 B 7

m ©O0
o OO
3) @
©
e

m\n

" 3/13
6 16 8

{ 25 5
3T, wigenati w1 frefd s ? |
g, ganati =i frsfua w2 |
gd, COVID-19 & ufed =t fr&fia s
g dun o, fafeean =i = fefa
HIATR |
= 4 8 =8 g dfgenet & @
Hifers-19 @ afea 781 2, frefoa wem 2
(1) 14
2) 16
(3) 20
@) 41

116.

‘ 117.

o a—— " AT T a—— T ———] Y ———— ] W Vot it st s
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Which of the following diagrams
indicates the best relation between

Forests, Earth and Mountains ?
m ©O0

@ OOO

o @

“@

Here, in the diagram

m\l?

i 3/13

6 16 8

{25}

Rectangle represents Female.

Triangle represents Youngsters.

Circle represents Covid-19 positive

and Square represents Medical staff.

Which of the following represents the
young females who are not Covid-19

positive ?
(1) 14
(2) 16
(3) 20

4 41



e (9w 118-119) : = few mw e =

ST R 3R fu T S % I

CUERE

X A Y X -wfa oo
Y - g

v
NOY S
118, 31 Rgenfedi & de < gfgnm 8, vy
HieT aferf i &, ® -
cL) .3
(2) 8
3) 5
@) 12

31 e it sfea H e d
e @I d Readi ?, R

(1) 1

) 3

(3) 5

4) 6

119.

99 favg & T W g@ei &1 eF |
ferepeg amam 2

120.

3 (8 [ [
5 6 17] 40| [?
W &
@ |
3 |
@) |oF

T s . o . " . S A sl i ] VR TS
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Directions (Q. No. 118-119) : Study the
following figure carefully and answer the
given questions :

&

118.

Y X - Hard Worker
Y - Intelligent

Z - Player

The player who are intelligent but not
hard worker is :

() 3
(2 8
(3) 3
4) 12

119. Number of the hard working people

who are neither intelligent nor player,
18

(M 1
() 3
3) 5
4) 6

120. Which option of numbers will come in

place of the question marks ?

1 [0 23] [57] [
51 |6 [17] |40] |?
127
97

(1

137

@ |37

137

) |97

147

“4) |97

00



121. Trafafea o § o stemgw 8, s | 121 In the following sequence some letters

@ A9 fou e = fyedt § @ wh d
341 31 % HgEr few e 8 | Wl ferehew
2

a__aba
(1) bbaa
(2) bbab
(3) baba
(4) abab

ab ba aba

iy« (122-123) Fr=fefea v&s = # @
Hya o HeAl & ag frswd fqu Mo g |
JTIHT GHT AT I & AT T, =R A o
g W aedl @ f femd <@ @ @ g
fifvea s 8 6 o9 @ fspd ol &=
dfhs T FATEOTHEE 7
122. Y9 : (i) B wem & el forameff
T |
(i) TP IferA TR |
forsepd : (i) M-dfgmm (e gfg =)
feremeff 7€ 2 | _
(ii) w1 ot et w1 fearemeff
2|
(1) <heret foreepe (i) STTERVI HTaT |
(2) hae frsd (i) STTERoT FET R |
(3) HI (i) F (i) STTE L & |
(4) T (1) 3R TS (ii) I Bl
2l

|
|
|
|
|
|
|
|
|
|
|

31

are missing, which are given in that
order as one of the four alternatives
under it. The correct alternative is :

a_aba___ab_ aba

ba
(1) bbaa
(2) bbab
(3) baba
(4) abab

Directions : (122-123) In each of the
following questions, two or three statements
are followed by conclusions. You are to take
the two statements to be true even, if they
seem to be at variance from commonly
known facts and then decide which one of
the conclusions logically follows from the

statements.
122. Statements : (i) All students in my
class are intel-ligent.

(ii) Mukesh
intelligent.

is not
Coaclusions : (i) Non-intelligent

ones are not

students.

(i1) Mukesh is not a

student of my

class.
(1) - Only conclusion (i) follows.
(2) Only conclusion (ii) follows.
(3) Both (i) and (ii) follows.
(4) Neither (i) nor (ii) follows.



1 23.

124.

wY: (i) Wt aredt AT )
(i) =t I 3vrei £ |
(iii) =oft A I E |
fremd : (i) wefi seeparrei €
(i) @fidaatsa s
(iii) &eft e 3o
(iv) @t s A € |
(1) w+ft forsemd a7aor e € |
(2) Fad (i), (i) 3R (iv) fored
T T £ |
(3) %A (iii) 3N (iv) Frend e
FAE I

(4) e (i) M (i) Propd s
FAE |

2 T FYF F U a9 for U E |
amaeht fAfvea =@ 2 5 99 a1 9
‘Yael’ @b & 3 BN W OFHAR a
g7 :
HYF : T BT I GwEE UT A
Tehilia =afdqdl & a9 €9 9
YA AT S =R 7
@ (i) ), 7€ w@ e % for g
31feres eI B |
(ii) &, I8 ool I7h! wawRT H
fafa =1 3k e @
AT |
(1) aei & (i) 5T 2 |
(2) ae a (i) TEG 2 |
(3) A AT (i) R A& & (ii) &l & |
(4) T (i) T (ii) A1 IESA 2 |

123.

124.

Statements : (i) All men are wolves.

(i1) All owls are men.
(ii1) All parrots are owls.
Conclusions : (i) All owls are men.

(i) All parrots
wolves.

are

(iii) All wolves are owls.
(iv) All men are parrots.
All conclusions follows.

Only  (ii),  (iii)
conclusions follows.

(1
(2)

and

(iv)

(3) Only (i) and (iv) conclusions
follows.

(4) Only (i) and (ii) conclusions
follows.

Given below consists of a statements
followed by arguments. You have to
decide which of the arguments a
‘Strong’ argument and which is a
‘Weak’ argument ?

. Statement :

32

Should people infected by Corona like
communicable diseases be denied for free
movement ? '

Arguments :

(i)  Yes, it will be highly beneficial
for such patients.
(i) No, it will only worsen their

state of health.
(1) Only argument (i) is strong.
(2) Only argument (ii) is strong.
(3) Neither (i) nor (ii) is strong.

(4) Both (i) and (ii) are strong.

00
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126.

00

FEl, Th FYF F T q 2T F, I
CFYES HEIT HL I IFIEN I
IS 6 1 |1/ & aeh woreE 2/3 |
YT : FT YR I FAHdH AR
gRR #1 g/ fatmtr s
=18y |
T (i) @, IRd 5 g Frafe = &
3T BRI b1 30 L @ & qen
< T T U e i @
% foru 78 safamd &1 |
(ii) &, 39 s u= Bl fawm
& fafaftrl € @ ge
91f8T |
(i) &1, @7 fava wifd = s
wH 6 fify * foeg
BT |
(1) heret (i) 7St 2 |
(2) T (i) T (i) A= |
(3) A (i) qT (ifi) T & |
(4) Tt wsteE € |
IZT, Teh Y % JTEIT e A=y (i) qe
(ii) < 7 & | YR HUF qUT WA
W fI=9r &7 € qun 319 @ & 7 e
I 9TraT U § 3Ffied & 9UT 379!
T IR IE T IET TR |
&Y : I SiFet w947 3EE B ar A
SR & 1 ARl % |
RIS : (i) Ush odfed Usial &9 !
TETTHIEN &1 2 |
(ii) T =afed wiams 9 31
=T I aTelt =S g e
1 3=B1 [@ar 2 |
(1) e (i) FAaHfEa 2 |
(2) e (ii) FaHfza 2 |
(3) T4l ()T & (i) aza 2 |
(4) (i) @ (ii) ST Jrafifed € |

| 125. Here, a statement followed by

|
!
|
1
|
!
|
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126.

arguments, read them carefully and
answer  accordingly  that  which
argument/arguments is/are strong.

Statement :

Should India acquire/manufacture
the latest nuclear weapons ?

Arguments :
(1) Yes, the enemies of India are

improving their weapons
continuously and it becomes
imperative to protect the

sovereignty and integrity of
the country.

(ii) No, instead the money
should be diverted to
development activities.

(iii)No, it will be against our
policy of maintaining world
peace.

(1) Only (i) is strong.

(2) Only (i) and (ii) are strong.
(3) Only (i) and (iii) are strong.
(4) All are strong.

Here, a statement followed by two
assumptions numbered (i) and (ii). You
have to consider the statement and
following assumptions, and find which of
the assumption is implicit in the statement
and choose your answer accordingly.
Statement :
If it is easy to become a doctor,
I don’t want to be a doctor.
Assumptions :
(i) An individual aspires to be
professional.
(11) One individual desires to achieve
a thing which is hard earned.
(1) Only (i) is implicit.
(2) Only (ii) is implicit.
(3) Neither (i) nor (ii) is implicit.
(4) Both (i) and (ii) are implicit.



127. 9&, T S & I 44 T (i), | 127. Here, at_ statementb foliiow(?)d tEy_)threg
2 . . assumptions numbered (i), (i) an
(ii) T (i) < "é 2 | el e { (iii). You have to consider the

qranst | e sEr g aun | statement and  the  following
w1 S & B B @ A JwT=TaTd assumptions, find = which of the

e o assumption/assumptions is/are implicit

U o faffed 8/8 U IEt * T in the statement and choose your
JTTRT TG IR G2 | answer accordingly.
HYT : i Statement :

o, The pandemic situation of the
foem o FIEfGEIT‘Tﬁ 1-'TETi:I'I'f’f % feufa world is still continuous to be
anft ot s @ue = 58 8 9 worst and out of control.
PR % S £ | A w = ¥ Peoplf: are requested to remain

; ng ; in their homes only.
ol # g 1 e TR | Assumptions :
TaTd : | - (i) There had been some serious
() & T i (T g8 | ' lapseIS- " s
(i) = o e A T | 00 Beoble il ey siolfics,
(i) & Ry 3 I | (ii1) horrrgalcy will be restore
i) Sedt B AT STETe &1 STl shortly.
(1) hae (i) affEa @ | (1) Only (i) is implicit.
(2) hae (i) T (iif) IFaHed & | ; (2) Only (i) and (iii) are implicit.

(3) Only (i) and (ii) are implicit.
(4) None is implicit.

(3) *Had (i) a7 (i) Tafifed & | i
(4) ®1$ ot Frafifga & 2 | |
I Questions No. (128-129) :

¥ GEAT (128-129)
. s Here, a statement followed by two courses of
TEY, T HUA % UYEI G B A (1) G | action numbered (i) and (ii). You have to assume

(ii) € T8 & | 3TT9eRt U # T T wE w9 everything in the statement to be true and on the

TS BT F2A § YT basis of the information given in the statement,
Hed & A s + i decide which of the suggested courses of action

faofar e 2 o6 E’Sﬂé T S A H B logically follow(s) for pursing.

(2) o (if) STTATT A 2 |
(3) QT ST HA & |
(4) T ()7 B (i) STTET HIA B |

(1) Only (i) follows.

(2) Only (ii) follows.

(3) Both follows.

(4) Neither (i) nor (ii) follows.

o 34 00

ot Fr AT drfehes ©9  STTE0 AR 7 | 128. Statement :
128. HUT : TG F TG 37T TS 90 & ' India has been continuously
2 i experiencing military threats
Afh oeh] 1 AP W | l from its neighbouring countries.
Rl AT : ' | Course of Action :
(i) e = 7o e & e e o | ) l“ﬁli?lb should ~ get  the
: ! neighbours into a serious
mﬁ%ﬂm , EF’F[T Uy | dialogue to reduce the
(ii) HRd 1 TR wfeRa __ﬁ U & ] tension at its borders.
m@w@mqﬁq | | (ii) India should engage into an
(1) ¥ (i) ST BTl 2 ; : all out war to stop the severe
' threats.
|
i
|



129. YT : YRA H Th I & HR

fersht bt w1 @ 7€ 77 FEE %
fousgafmmframe |
FEA: (1) FN H T °
gfaeaef IqE
Tgfaa ST HE
TIfET quT A I
H UEE =N H
o | g =R |
(i) fasmo=t & #@em @
FH F 3 IATS
i gfoeadf et &
SaEl ¥ O fmm
T TATE T =1RT |
(1) S (i) ITE FTA € |
(2) e (ii) STTET HTA 2 |
(3) ST STTET HA B |
(4) T (1) T8 (ii) ITET FIA B |

130. = o 1 g Sreram Hifv

AN
&Y

.

o & Bgsti e ot <6t o 1 3R R
(1) 20 2) 21
(3) 22 4) 23

131. % ua it weft gagl w @ foran g,

00

FEH! 64 THEAH T1 § HIET AR, @
% Th Tdg W T 91) B TA1 )
e fpadt 8 7
(1) 18
(3) 30

(2) 28
4) 24

et o i s it ———] N i —— i i e St
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129.

130.

131.

Statement :

The sale of cars of a company
in India has gone down
considerably causing  great
concern to the company.

Course of Action :

(1) The company should make a
proper study of rival
products in the market and
also try to improve its
products over others.

(1) Company should try to show
superiority over rival
companies product by the
use of advertisement.

(1) Only (i) follows.

(2) Only (ii) follows.

(3) Both follows.

(4) Neither (i) nor (ii) follows.

Study the following figure carefully :

The difference between number of
triangles and squares in the figure, is :

(1) 20 @) 21
(3) 22 4) 23

A cube, painted on all its faces, it cut
into 64 identical smaller cubes, then
how many smaller cubes have only
one face painted ?

(1) 18
3) 30

() 28
(4) 24



132.

133.

134.

el T o % W i gea feg e R
= ot W amenfia feadia weten! 1 w@l

THR:
b e b

a c f

(1
(2)
3)
Q)

75l, © T % o fafte 3o fag e
2 | feu o =1 sremEA HifSe qen Tea
HYA I T HIIAC :

(1) 5 farg, 3,2 7o 4 formgati & ama=
g

) 2am5ﬁg,ﬁ§aﬁ3w:taﬁ

FHEAE |
3) 1-6 forg femlia wereni W 2 |
(4) 34 fag faulia werspi W E |

frfafga § 4 feaa a9 2019 & forw
Traret grifel ehr Sfar 2 2

(1) w1 QU
(2) fean qire
(3) 3reft rewg Ireht
(4) Tow SHTE

1 32'

133.

134.

Here, three different views of a cube
are given. Based on these diagrams the
correct pair of opposite faces is :

b e b

a c f

M
(2
3)
C))

Here, three different views of a dice is
given, study the given figure and find
out the incorrect statement :

3)

(1)

5 dots are adjacent to 3, 2 and 4
dots.

(2) 2 and 5 dots are adjacent to both 3

and 4 dots.

1-6 dots are on opposite faces.

4)

3—4 dots are on opposite faces.

Who among the following has won
Nobel Peace Prize for the year 2019 ?

(1) Lemma Megresa
(2) Nadia Murad
(3) Abiy Ahmed Ali
(4) Meles Zenawi

00
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136.

137.

138.

00

¥ 2019 & FreAferfea & @ 59 wra
¥ o fFar @ 7

(A) YU BT

(B) Sor&l Trff

(C) TS SErE

(D) S =g

= e T B w1 ST F TE S
o

@g:

(1) (A), (B)

(2) (B),(©)

(3) (A), (B), (C)

(4) (A), (B),(C), (D)

A€, 2019 ¥ 9YRA % AR F IEa
HeAE & w9 4 fohd fger frarman @ 2
(1) T T

(2) Euss s

(3) ToaTht =g 9=

(4) Gfter =

WId & g =% 3176 fotha =% & &9
7 ford forger fparman @ 2

(1) fafm Tea

(2) TH¥ FAR i

(3) HAN M

(4) FeR fig

YR 1 dfeu™ fegg fg &7 mamn
SR ?

(1) 15 TR

(2) 26 Fa=R

(3) 26 3TFER

(4) 15 T

e T——) WS ot s A o —— - ———— T —— i s T
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135.

136.

137.

138.

Which among the following have been
awarded with Bharat Ratna in the year
2019 ?

(A) Bhupen Hazarika
(B) Pranab Mukherjee
(C) Nanaji Deshmukh
(D) Teejan Bai

Select the correct answer using the
codes given below :

Code :

(1) (A),(B)

(2) (B),(©)

(3) (A),(B), (C)

(4) (A),(B),(C), (D)

Who has been appointed as India’s
first Chairperson of Lokpal in March
2019 ?

(1) Ranjan Gogoi

(2) Dipak Mishra

(3) Pinaki Chandra Bose
(4) Satish Jain

Who has been appointed as India’s
first Chief of Defence Staff ?

(1) Bipin Rawat

(2) Rakesh Kumar Singh

(3) Manoj Narravane

(4) Karambir Singh

Constitution day of India is celebrated
on:

(1) October 15
(2) November 26
(3) October 26
(4) September 15



139.

140.

141.

SIS 21! ety R TN oy
BTeh! forga 9 2018, feraeh g1 Sfiar
g7 7

(1) sfesam
(2) sAregfern
(3) W
(4)

I FHI A TA A ISR ?
(1) 2=
(2) Tshehe

(3) Feard
(4) SsfifeA

T % Fefafea feenfed § @
ford wgmaft-2020 qrehr frem 2 7

(1) ~Ferefrer Tite, el

(2) TS &, vedtfead

(3) wmfeg 7, 9 weeie

(4) forean Tm, et

142. el ofere, SO SRR 3R AT

TgaTe A R e E el @ 7
(1) TpaTsh, auEhl, 2HE

(2) FFRarl, foefee, defife
(3) Fwd, Tefeead, defire
(4) e, verifes, 2f

|
|
|
!
|
i
!
|
|
|
|
!
|
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P 139.

140.

141.

142.

Men’s Hockey World Cup 2018,
organised by International Hockey

Federation was won by :
(1) Belgium

(2) Australia

(3) France

(4) Germany

Uber Cup is associated with which
sport ?

(1) Tennis
(2) Cricket
(3) Football
(4) Badminton

Who among the following
sportsperson from Rajasthan, have
received Padamshree Award, 2020 ?

(1
(2)
3)

Navneet Gautam, Kabaddi
Gopal Saini, Athletics

Sandeep Singh Mann,

Para
athelete '

(4) Limba Ram, Archery

With which respective sports Sakshi
Malik, Dipa Karmakar and Saina
Nehwal are associated ?

(1) Boxing, Swimming, Tennis
(2) Boxing, Gymnastics, Badminton
(3) Wrestling, Gymnastics, Badminton

(4) Wrestling, Athletics, Tennis

00
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146.

T 3fieifss @il 1 yeata fra <6 2
(1) Tad Hrfemt
2) Wi Hefam
(3) Fefm e

(4) St TR

U B g e s @
(1) 25 e

2) 21H

(3) 29 3T

(4) 29 TR

o & fafafea Reenfedt & @
o8 3197 qepR frem 2 7

(A) Tdftw s, Qs

(B) 3rgelf wee, Fememsh

(C) Fom g, weetfesa

(D) rfirsfa e, s

= few e e F1 39Em w0 E IR
TH -

HS:

(1) (A),(B)

(2) (B),(©C)

(3) (A),(B),(C)

4) (A),(B),(C), (D)

‘TOPS’ T HL R :

(1) < e D =6

(2) TATE ATRIA BR DAY 37 e
(3) 2nie 3Meifes Nfeaw whiy

(4) < 3T NI =hm

144,

i 148,

|

|

|

|

; 146.
|

|

|

|

|

143. Who strarted Para Olympic games ?
(1) Robert Carterville
(2) Stoke Mandeville
(3) Ludwing Guttman
(4) George Eyser

National Sports Day is celebrated on :
(1) July 25

(2) June 21

(3) August 29

(4) September 29

Who among the following
sportsperson from Rajasthan, have
received Arjun Award ?

(A) Satish Joshi, Rowing

(B) Apoorvi Chandela, Shooting
(C) Krishna Punia, Athletics
(D) Abhijeet Gupta, Chess

Select the correct answer using the
codes given below :

Codes :

(1) (A),(B)

(2) (B),(C)

(3) (A), (B), (O)
(4) (A), (B), (C), (D)

“TOPS’ stands for
(1) Top Olympic Position Scheme

(2) Target Operation for Position in
Sports

(3) Target Olympic Podium Scheme
(4) Top Order Position Scheme



147. ity § safwmTd @l e Sfaq ar
(1) o=
(2) e fegn
(3) AT &
(4) weft afes

148, ‘S0 Y P @O A HElta & 7

(1) e
(2) TEH

3) faferda

4) =

149, mgTaener faenfiat & foe “am 3w
EfeaT’ AT9% TH U Wl IR HH

(1) Tema
(2) YIRA qACH
(3) THIfGE

(4) =g

150. “f@en” (Riksdag) fore <1 i weg

TmE 7

(1) FATEes fohmren (.. )

(2) %
(3) =teq
(4)

| 147.

-3
o

148.

149.

150.

First Indian to win Individual Gold
medal at the Olympics :

(1) Mary Kom

(2) Abhinav Bindra
(3) Yogeshwar Dutt
(4) Sakshi Malik

The term ‘Bunker’ is associated with
which game ?

(1) Polo

(2) Golf

(3) Billiards

(4) Tennis

‘Summer of Ideas’ is an initiative for

college students launched by —
(1) Reliance

(2) Bharat Biotech

(3) Infosys

(4) SHREYAS

“Riksdag” is the parliament of which

country ?
() UK
(2) France
(3) Sweden
(4) Norway

00
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00

(2) Toemag, s<diane

() feagy, srEm
(4) e, dure™

qfve Yora o1 geaTed a2
(1) 3EHETETG

2) qw@

(3) =EMa

(4) 4
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(1) et Tafieem 31 sfosan

(2) Tt sfEan g weEE

(3) TRRifd HeEH 3T 3fvean

(4) wd forehe shga |18
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(1) SSEAT

(2) o9 Gk

(3) @mTE
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(2) wiE
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Where is ‘Dhanu Jatra’, an annual
drama based open air theatrical
performance, celebrated ?

(1) Bargarh, Odisha

(2) Bilaspur, Chhattisgarh
(3) Dispur, Assam

(4) Shillong, Meghalaya

. Headquarters of Western Railways is

located in —

(1) Ahmedabad
(2) Surat

(3) Baroda
(4) Mumbai

Which Indian Sports Federation has
started the campaign — ‘Team Mask
Force’ ?

(1) Archery Association of India
(2) All India Dance-port Federation
(3) Athletics Federation of India
(4) Indian Cricket Control Board

Capital of Bolivia is
(1) Ndjamena

(2) La Paz Sucre
(3) Lagos

(4) Kinshasha

Which of the following countries has
taken over as the president of UN
Security Council in March, 20207

(1) Russia
(2) France
(3) US.A.
(4) China



156. TS feaw e TARI AR 7 156. When is ‘Rajasthan Day’ celebrated ?

!
(1) 30 3% : (1) 30 April
(2) 309 ' } (2) 30 March
(3) 23°= %i (3) 23 March
4) 12 33« : (4) 12 April
:
157. “Te SHHIE ®R &€ T®A" (Good | 157. The book ‘Good Economics for Hard
Economics for Hard Times) % &i@® & | Times’ is written by —
(1) wfers ay (1) Shalin Ghosh
(2) 3NFd wea ; (2) Urjit Patel
@) m A | (3) AtErASe
(4) Afrshia . I vg TR e (4) Abhijit V. Banerjee and Esther

Duflo

158. ‘I U Uawlse S’ foh@ ¥ | 158. The  ‘Integrated Road  Accident

3 fepfta fopan 2 2 | Database’ (IRAD) is developed by —
(1) 38318 &, fewet ! (1) LLT. - Delhi

(2) 3TE.3¥7%.T0., 3R ' "~ (2) LLM. - Indore

(3) R3S, @Y (3) LLT. - Kharagpur

(4) IE.IE.A., qZ™ (4) LLT.-Madras

159. ‘Sgffd ==oar ga="s (Personal 159. “Personal Sanitization Enclosure” is

Sanitization Enclosure) f68 g€ g
foenfia fepmman & 2

(1) T (AIIMS)
(2) SIRHA. (& FEYE T

developed by -
(1) AIIMS

(2) Defence Research and Development

Organisation (DRDO)
[EEIEEISICY)
(3) YRA qRIeH (3) Bharat Biotech
(4) & wmi (4) Sun Pharma
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(4) IE.E.A. —Tas

g o EregreE FARIeH (Hydroxy
Chloroquine) % I 9 fafa 4 =4
|1 391 S, 2020 T 1S TAH TR ?

(1) &4

(2) ¥ra

(3) 3mfER (U.S.A)
(4) S

frm o @ fpm T A wE, 2020 # 9T
Y ERWEE  HEEel $1 g%nd

|
!
|
|
|
|

|

!
I
l
!
1
z
i
I
l
l
|
i
!

43

160.

161.

. 162.

163.

Which is the smallest state of India
from the point of view of area ?

(1) Sikkim
(2) Kerala
(3) Tripura
(4) Goa

Which LLT. has developed ‘Prana-
Vayu’, a low-cost portable ventilator
in association with AIIMS-Rishikesh
in April, 2020 ?

(1) LLT —Roorkee
(2) LLT.-Kharagpur
(3) LLT.-Delhi

(4) LLT.—Mumbai

Which country has been the greatest
producer and exporter of Hydroxy
Chloroquine in the world till June,
20207

(1) Russia
(2) India
(3) America (U.S.A.)
(4) Japan

Which of the following countries has
successfully tested nuclear capable
hypersonic missiles in May, 2020 ?

(1) Japan
(2) America
(3) Germany
(4) France
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fog faven faamw sfufem =9 ofm
fopar ma 7
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4) 1929
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When the Hindu Widow’s Remarriage
Act was passed ?

(1) 1835
(2) 1839
(3) 1856
(4) 1929

The General
National Social Conference at the time

Secretary of Indian

of its inception was

(1) Mahadev Govind Ranade
(2) Raghunath Rao

(3) Vishnu Shastri Pandit

(4) Veeresalingam Pantulu

The first Singh Sabha of Singh Sabha
Movement was established at

(1) Amritsar
(2) Lahore
(3) Nankana Sahib

(4) Nanded

Surendranath
the

whom
founded

Along  with

Bannerjee Indian

Association ?

(1) Phirozshah Mehta
(2) Kazi Nazrul Islam
(3) Chittaranjan Das
(4) Anand Mohan Bose
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T U TaTS! GHIER 97 o7 ?
(1) &feem

2) THEEAA

(3) TREH

(4) < TS 3T fvgan
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s — fore et off -

(1) faftm=rg el gra

(2) Ifa<r O g

(3) GHTY =g a1 R

(4) AT TSI T I

AT foee % R O srnfafEd

FUAT ! Tl :

(A) 1897 T ¥ Ugeht IR TSAE o TR
T Qrfég BT |

(B) 1908 # : ToE & forg 3= ®:
Y % Al shl T & A |

freafafad 3 @ w€ 3T 99 FHIfC

(1) (A) 9 2, TG (B) 38 2 |

(2) (B) W 2, T (A) FEAR |

(3) AT (A)IRATE (B) TR |

(4) (A) IR (B)GHITAR |

frafefag § & 19 91 shifdeil T
A W TG A8l AT ?

(1) rgefem afufd

(2) o= den

(3) I

(4) =Yg gfufd

i

168. Which of

169.

170.

171.

the following
Nationalist Newspaper in late
Century ?

(1) The Tribune

(2) The Madras Mail
(3) The Statesman

(4) The Times of india

was a
1 9lh

“New Lamps for Old” — A series of
Articles — were written by

(1) Vipin Chandra Pal

(2) Aurobindo Ghosh

(3) Subhash Chandra Bose
(4) Lala Lajpat Rai

Read the following statements about
Lokmanya Tilak :

(A) He was first convicted on the
charges of sedition in 1897.

(B) Again in 1908, he was sentenced
to six years imprisonment for
sedition.

Choose the correct answer from the
following :

(1) (A) is true, but (B) is faise.
(2) (B) is true, but (A) is false.
(3) Neither (A) nor (B) is true.
(4) Both (A) and (B) are true.

Which of the following revolutionary
organisations was not related to
Bengal ?

(1) Anushilan Samiti
(2) Mitra Mela
(3) Yugantar
(4) Bandhav Samiti
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AICC & i g7 o yftig “wra srer
TEITE TR g3

(1) 7 37T, 1942
(2) 83T, 1942 !
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. Where

The famous “Quit India” resolution
was passed by the Bombay Session of
the AICC on

(1) 7" August, 1942
(2) 8™ August, 1942
(3) 9™ August, 1942
(4) 10" August, 1942

The organisation of the Congress was
revamped in 1920. Read the following
statements regarding changes :

(A) Congress subscription was fixed

at 4 annas.
(B) A 15-membered Congress
Working Committee was

constituted.

Choose the correct answer from the
below ;

(1) (A) is true, but (B) is false.

(2) (B)is true, but (A) is false.
(3) Neither (A) nor (B) is true.
(4) Both (A) and (B) are true.

. Which of the following pre-historic

sites is located in Rajasthan ?

(1) Bhimbetka

(2) Devapur

(3) Jamalpur

(4) Khor

site

the ancient historical

Rangmabhal is located ?
(1) Sri Ganganagar
(2) Bikaner

(3) Hanumangarh
(4) Churu
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(1) TETS 1 UM FT

(2) WETS T VT Hihd

(3) HRETE 1 Td AT

(4) SRR H1 TE Sta
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(1) feeett
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(3) "YU

(4) TETRR
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(1) SEmE™E
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(1) Saged

(2) JeARH

(3) SARH

(4) IR H
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Jgea Frferfiaa § @ e foman 2

(1) e e

(2) AR ST
(3) Tecrafés afm
(4) ArdfieTe aSTaa
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The ruler, who was the patron of
Scholar Yogeshwar and Bhattavishnu :

(1) Rana Sanga of Mewar
(2) Rana Mokal of Mewar
(3) Rao Maldeo of Marwar
(4) Rao Jetsi of Bikanner

The astronomical observatories built
by Sawai Jai Singh are not found in
which of the following cities ?

(1) Delhi
(2) Ujjain
(3) Mathura
(4) Gwalior

The editor of Rajputana Malava Times
and Rajasthan Patrika was

(1) Lakshman Das

(2) Hanuman Singh

(3) Murad Ali

(4) Ram Narayan Chaudhary

Desh Hiteshini Sabha, a social reform
organisation, was established at

(1) Jodhpur
(2) Udaipur
(3) Jaipur
(4) Ajmer

Who among the following led the Bhil
Movement in Mewar during 1920s ?

(1) Govind Guru

(2) Jai Narayan Vyas
(3) Vijaysingh Pathik
(4) Motilal Tejawat
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